= Ditransitive Verb (DTV) PATTERN

= Two more arguments (subject + indirect and direct; or in Algonquian terms, primary

and secondary)

indefinite definite/subjunctive conjunct
2-1 K'mili k'milin milian

oda k'miliw oda k'miliwwen oda miliwwan
1-2 K'milel k'millen millan

0da k'millo 0da k'millowwen 0da millowwan
1-3 n'mild n'milon milok

0da n'milow 0da n'milowwen 0da milowwa
2-3 k'mild k'milon miloan

oda k'milow oda k'milowwen 6da milowwan
33 mila w'milon milot

0da milawi 0da w'mildwwen 0da milokw
3-T n'milegw n'milgon milit

6da n'milgow 6da n'milgowwen oda milikw
32 k'milegw k'milgon milgoan

6da k'milgow 6da k'milgowwen 6da milgowwan
33 milegw w'milgon milgot

6da milgowi 6da w'milgowwen 6da milgokw



